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1)

(12 points) Gallup conducted a telephone poll asking 1,024 American adults aged 18 and older what
party they aligned with and whether or not they approved of same-sex marriage. The result of the
survey was that 60% of Americans approve of same-sex marriage with a margin of error of 4%.

a) (2 points) What is the population of this experiment?

American odults 18 and older

b) (2 points) What is the sample of this experiment?

024 Awmericans |8 and older Samﬂléd

¢) (2 points) What is/are the variable(s) of this experiment and what type is each variable?

’Park/ Q\igﬁww - Qua\ifahive

Sbnce, o YaMle - Sex W\axriwje - Qualdehive

d) (2 points) What is the reported statistic for the study?

$=.60

e) (2 points) What is a reasonable interval estimate for the parameter?

.60 -.04 = .56 (.56, .6'-!) is o reasonable MW‘
.60 +.04 - .64

f) (2 points) Is this a designed experiment or an observational study?

This 5 o deservaiona) %’mA\T.



2) (16 points) The survey of the class showed the following self-ratings from 1 to 10, ten being most
attractive:

56,6,6,7,7,8,8,8,9;
Yx=70; S(x—-%)?% =14

a)

b)

c)

d)

e)

Seif-Ratings

(2 points) Is this data skewed? If so, which way is it skewed?

No ‘H\o h on arsumeny for i+ . ,i { )
bing bionolal s remenatle. 2| A1

Rabg

Reatve Freouency

(2 points) Without calculating the mean or the median what should their relationship be?
(Use part a.)

Mg = Median

(4 points) Calculate an appropriate measure of center for these data.

- . aX
me&ﬂ:x ol —ﬁns -?%—:q

Median = T

(4 points) Calculate an appropriate measure of spread for these data.

5+. CLQN*!Z(‘-?): =f;?-_-}_’?_; ng = Iqu'
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(4 points) What percent of data could | expect between two standard deviations of the
mean?

Empirical Rule states  45%  betwewn fwo sk dev (el shagd)
Chesysher’s Tt shakcs SUE% betwesn dwo sh dov (R imodal)



3) (16 points) The survey of the class showed the following class-average-ratings from 1 to 10, ten
being most attractive:
1,6,6,6,7,7,8,8,8,9;
Tx=48; Y(x-%)?% =32

Class-Average-Ratings

a) (2 points) Is this data skewed? If so, which way is it skewed?
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b) (2 points) Without calculating the mean or the median what should their relationship be?
(Use part a.)

Mean ¢ medion

c) (4 points) Calculate an appropriate measure of center for these data.

Medion = 7

d) (4 points) Calculate an appropriate measure of spread for these data.

1QR= 3-6=4.

e) (4 points) What percent of data could | expect between three standard deviations of the
mean?

OW,E\{SMV'S Rule stales BRE8 % belween Yheee sk dev.



4) (5 points) Domino’s Pizza offers twenty four toppings for their pizzas. If | were to order a different
two-topping pizza every day how many days would it take for me to try every two-topping pizza
dominoes can make.

2] 2@ T Zo@ma) T @ T 2

5) (5 points) At home | have 91 books. | have a giant bookshelf that I'd like to put the books on - how
many different ways I could put the books on the shelf?

E 18-
Q\Rﬂ = @F‘ﬁ;‘ = 41-90-1 & This number is HUGE!

—— *



6) (16 points) (http://www.gallup.com/poll/183272/record-high-americans-support-sex-
marriage.aspx)
A new Gallup poll on the support of same-sex marriage had very interesting results. It was reported
that 60% of Americans support same-sex marriage. Given an American aligns with the Democrat
Party the probability they support same-sex marriage is 76%. Given an American aligns with the
Republican Party the probability they support same-sex marriage is 37%. Given an American aligns
with the Independent Party the probability they support same-sex marriage is 64%.

a) (2 points) What's the probability that a randomly selected American does support same-sex
marriage?

60%

b) (2 points) What's the probability that a randomly selected American doesn’t support same-sex
marriage?

|-60% = .40 — Y0%

¢) (2 points) What's the probability that a randomly selected American supports same-sex
marriage given they align with the independent party?

P(SIT) = 64%

d) (5 points) If 42% of Americans align with the Independent party, what’s the probability a
randomly selected American is Independent and supports of same-sex marriage?

) =7 P(slT)
Pen >-qu)(.6~1)

= ,J688

e) (5 points) If 42% of Americans align with the Independent party, what’s the probability a
randomly selected American is Independent and doesn’t support same-sex marriage?

P(TNs9) = PE)R(SIT)
(42) (1-.64)

= A5



